AM*" |
LO: Toreoognbseand;umbededmabequent&

Core Skill White dowrv the decimal, and, '
Here s my example. This representation | equiralents for these representations.
shows [.0/100, which ts equinalent to Look ab my example to- help yow
O.L.

A B C. D.

Depthy Task | - Jon s thinking of o Depth Task 2 - Pefer s thinking of o
decimal betuween, /10 and, 6/10. Megany | decirnal, between 3/10 and: 7/10.

Salé&, Jayden says,
m I think Jon's decimalis 0.7 ]
L T | think Peter's decimalis 0.1
> < O
0 3 1 .

mem\%o@w Is Jayden correct? What decimals could,
Peter be thinking of?

Greater Depth Task
Wheo i correct? Explain your answer.

'IDO os

This decimal is incormrect,
it should be 0.6

This decimual is correct *
because it shows six
g

hundredths.

L w




Actiniby 2

L():_ro-onder-orui'ccwn{uune/ckujfncﬂ;eﬁyJUvolerdxu

S

Put these different; representations v ascending order

D

Core Skl

Use > or < to compare these, decimal, numbers. Use your knowledge of place
2.05 2.50 4.96 4.69
1.21 1.12 0.01 0.1
3.54 3.45 2.11 2.9

Depth Task,

13
100

0.04

0.40

G
ninety-seven

hundredths

Gr\eoi'er\Depth
HWWPWWW\U\%@W Who i correct? Explain how yow

Task

Hans

Penny




Actinvity 3
LO: To recognise: and: show families of common equinalent fractions:.

Core skill

To find anv equinalent fraction, we must mulbiply the numerator and,
dmommai:or\bg/ﬂqesamenwnm V\/r\d:egmx\answer\s/mibgo{mbook;

Look ab my example
1)_2 = 2)l =
3 9 5 15
1 _ 3 4 2
8 B 2 3
2L " "1 Y T
x‘ : L 14) & -
B3 3
DepﬂmTa/sk, Wmi'aﬂw(ﬁr\afhom}on Usi Jdme/ cards below, create
eachy bdow.Using/gow\ three . Remember

wor\k/oubwjru&m&’dﬂeoddon@oubond/ d;enommai:or\bg/ﬂqesamenumbm

p O O O
i SR
3 K4 6 12
T
2 ) 4

GmfﬁnDepﬂ'w—melookhgatt}wFouowmg/P\afhon& Is she correct?
Exploimhwgmknow.
3 _ 21

4 32

The fractions are not
equivalent. The numerato
and denominator hcnre
I('ru

not been mulfiplied by the
same number.




LO: To solme problems involwing harder fractions of guantities.

Core skilly Exon‘tple
Copy the following info- your
2 o L8 - Step oner divide the whole,
2. anC|8 - number\bxé/’dwedenommofon
; K
3.§oaﬁl._5= L8 s, - R 11 Ip 11
L.anﬁ36= S&phwmdhplgwm
46 2 % 3 =
6. o of .80 - 3/ of 1.8 - 36
Depth, Task
MWWMWw@WMMMMWWW.
@ %ofsz %of 42 %of 35 %of 48
Mc“nv.;er

1 3 3 5
8 of 48 ; of 35 4 of 32 5 of 42 e

Wheo i correct? Explain hour you knousx

Gr\eﬂi‘ﬂ\DepﬂwTask/
Luua;ha&(ﬁcxmd@r\edpeoaﬁh wpmk%butsheonlg/need&tomakeB What

Cupcake Ingredients

4 eggs

200g self-raising flour
100g butter

80g sugar

Howmuch%ﬁeodnlngpedimtuﬂﬂzsheneed/?




Activity S
LO: TOGMMWWMMWWW.

4

Gr\eober\DepﬂwTask/ Fmd/a;paﬂvﬂ'u\oug}vt}wmmbg}oddmg(ﬁm
together to- reachs the finishing total. There may be more than one path

stat | 1| 3 |9 |10] 2] 2]
» 15 15 15 15 15 15 15
4 (3 |n|3|l2|2|1
15 15 8 15 15 15 15
8|z 2|alnl2l|o
15 15 15 15 15 15 15
7 2 5 6 4 2 49

15 15 15 15 15 15 15 _Flrﬂl




Answers

Achirity |
Core skill
A B. C D.
0.2, 20/100 0.9, 90/100 0.7, 70/100 0.3, 30/100
Depth, Task | Depth, Task, 2
Jon s thinking, of o decimal between /10 | Peter is thinking of as decimal, betueeny
and, 6/10. Megary says, 3/10 and, 7/10.
Jayden says,
‘ﬁ) 2 I hink Jon's decimalis 0.7 } ”
w i I think Pefer's decimal s 0.1
: J—

a8
0 0 1

(I I O O
f\/\egml&notcor\r\ed/bewmeﬂqe
d@cUmLmustbebigthmeJand/
smaller thary 0.6.

Jorv's decimal could be 0.7, 0.8 or
0.9.

Jayden is nob corredt because O.1-//10.
The decimal must be bi than
0.3=3/10 and, smaller thar, 0.7-7/10.
Peter's decimal could, be 0., 0.5 or
0.6.

Greater de,pﬂv’w/sk,
Wheo- s conrrect? Explaim your answer:
130 = 0.06

Luc%/l&cor\r\e,d).
O tenths and 6

] hundredths together make
6 hundredths.

hundredths.

This decimal is incorrect
it shovuld be 0.6
Leo

This decimal is correct *
because it shows six
=

Lucw




AI’LSM){’J\S/

Activibiy 2
Core skill
9a. Use > or < to compare these decimal | 9b. Use > or < fo compare these decimal
numbers. numbers.
2.05] < (2.50 4.96| > | 4.69
1.21) > |1.12 0.01| <] 0.1
3.54| > |3.45 211 <| 2.9

Depﬂmfask—PubthesedeL&Woswxdmg/or\dm

A
C D G

E inety-seven
13 0.40 e
100 hundredths

E (0.04), ¢ (0.13), b (0.31), A (0.39), F (0.4), B (0.43), 6 (0.97)

Gr\eoi'er\DepﬂnTOJsk;
Han&ondpmmé/w\e/pwhhonm%@numbem Wheo- is correct? Explaimhowgm
knouws

Hans Penny

Penry is correct:
Hmha&pwﬁhomedﬂqe
andZtenﬂw&Uwi‘aad/%C




Answers

Achirnity 3
CO(‘G/S'QllL X3 X 3
2 6 2 b
1) — = — 2] = = —
LT
3 X3 9 1 e 6
5 2 =2 g = =B
1 _ 3 ' 2 2 9771
9) 2 : 4 49 3 .12
9 18 5 20
‘x 3 +4 +2
Vi 4 1 4 2
& -1 4 & -
13) 12 3 ) b 3

DepﬂmTa/sk, Th%eamalbwﬂmalaxh’toV& @

5a. Using the digit cards below, create
three equivalent fractions.
e
6 q 2
A-/12, B and, C=6/8. All of these 3 9 s 12
D s the odd, one out because it shows 8/16
whichs s Wler\i/ to a %. 2 5 4
Greater Depﬂ'\/

Kiraw s conrect. Thenumex\oionho&bmmulhphedbg/7ondﬂq@dﬁnommat0{\
has beery muliplied by 8. Ar equinvalent fractior of % =21/28.

3 21

4 32

The fractions are not
equivalent. The numerator
and denominator have @_@
O

not been multiplied by the
same number.




Aruswer\s/

Actinita |
Cor\e sJulL
Lof 1.8 - 12 (1,8:L.-2)

2. oaCI8 2 (18:3-6 6x2-12)

3. 2 of LS - 27 (1.5+5-9 9x3-27)

L2 of 36 - 2L (36:3-2 2x2-2L,)

5. 2 o 360 - 270 (360:,-90 90x3-270)

6. = of .80 - 288 (.800-L.8 [ 8x6-288)

Depth Task,
MwwmdMaghmplocedUﬁmwMLahm&wamdxngordm

-~ | s 2 s 3
oy o+ of 32 < of 42 of 35 g of 48

a =X 3 5
8 of 48 of 35 a of 32 6 of 42 e

Wheo is correct? Exploimhowgwknow.

-
Manveer

May s correct because her answers to- her caleulations are 6, 15, 2L, 35 and, these
are v the correct order
Howener, Marweer answers are 2L, I, 25, 18. These are not irv ascending order.

Gr\eﬂi‘ﬂ\DepﬂwTask/

Cupcake Ingredients

4 eggs

200g self-raising flour
100g butter

80g sugar

Howr muchs of eachs ingredient, will, she need?
3 eggs;, |509100C5d£—m151ng/ﬂou1\, 759/o£buttepond;609/o({;sug,w\.




Answers

Achirniby S

Core skills -

27 10 _17 .. 25 12 _13 .24 10 _14
"2 12512577 77 57 79 T T

A

Depthy Task - Use the number lines to- complete the caleulations belous.
oli 1 1 I I i I I 1 I I I I I I 1 I I 1 I I I I ;
s s

A-5 3 7 4 lol;p-lal 2 1 6 23
6 |&] [6] & [&] 121 (2] [2] [#] <
Gr\eﬂi‘ﬂ\DepﬂwTask/
Various answers, for example:
Start | L | 2 | £ | 10 | 2 | L | L
—_— | _15 15 15 15 15 15 15
S I T < T | S S e V4
15 15 8 15 15 15 15
S| L | 2|4 |22 | L
15 15 15 15 15 15 15
L |2 |5 |6 |4 |2 [|4 |Finish
15 15 15 15 15 15 15 E—




